r_

Give the SMALLEST degree .« ¢ PRR- Possible Rational Roots. Cross out the roots that )'

polynomial with the given roots. : CANNOT be a root of the polynomial. P L{ st tactors :
Write the conjugates, if any. :’,; & P % E\lﬂ &_—gﬁl'bpam.:
| / € s T}
. _1_’ 3i 2 NG 55 Plax)=6x 4x +x* —2x+1 = __I____
3. A4F @ [ ve J A 4l %

IO T TS T X 1% 1

E . L 542

: ____§_, s 6. P(x)=2x"-4x" +x* -2x-5 *2: - &’ ::‘:z,} £S5+ 28 |
| 3 | +[34 T —
S )

e
W | X X |

L ROy 12" =4 A X2 oy 400 F

"4

_ 1
2130 <124 WAV LT -4

4 1 5 Pdnzt X 2 j, ?

/8. Px)=7x’+4x* +x*~2x¥8 £ LS N ;

K&

-1/7 15

|
h\ﬂ“‘%“&“ﬂ“ﬂ‘hﬂ ‘H“%IHEHI%H%“‘“‘aﬂ'ﬁxﬁﬂiﬁ'ﬂﬁﬁhﬁﬁ‘m&n"!m S SN A,




Find ALL Roots. You may need to use synthetic division and the quadratic formula.

1. T LI8x —97x—60 — 5; A 2. P(x)=6x"+5x"—48%"8
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’_- Find ALL Roots. You may need to use synthetic division and the quadratic formula..

Y =x —6x” —7x° +68x~76

4. P(x)=>5x"+82x> +240x"
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\ Find ALL Roots. You may need to use synthetic division and the quadratic formula.
6. P(x)=x" T. P(x)=x" +4x° =3x* +40x 5 %
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Firld ALL Roots. You may need to use synthetic division and the quadratic formula.
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8. P(x)=(2x" +11x* +2x* —65x 100
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9. Determine the remaining solutions given one
solution is 3 +2i.




